2 RERT-AIVTRERR

ESiERLY i ] j &R (Ba/kg)
NO Eth we | maee | weg | PRES % iy 28 BEH GaE | BRR ER % | wokoise| wokee
1| RBBE=RIVY | (BEBR) | BER w|ET FERE R — Ee] X=E RERREREVY— Ge H23.11.30 | H23.12.9 <90 16 32
2 | BRRE=SULY | BER) | BER HEM FERER — 224 X=E EEREERELS— Ge H23.12.7 | H23.12.9 <89 <12 <11
3 | BRRE=4ULY | BER) | BER w|EM FERE R — 224 X=E RERREREVY— Ge H23.12.7 | H23.12.9 <11 14 16
4 | BRRE=SULY | BER) | BER FHEET | EREH — 8 X=E BRERREREVY— Ge H23.11.30 | H23.12.9 <95 20 33
5 | RABE=4JULY | BBR) | =ER BT | EREH — 224 X=E EEREERELS— Ge H23.11.29 | H23.12.9 <83 <14 <11
6 | BRRE=4ULY | BER) | BER FHET | EREH — 2 < ] X=E RERREREVY— Ge H23.11.30 | H23.12.9 <11 79 100
1 | REABE=4ULY | BEBR) | =ER FHAET | EREH — 257 X=E RERREREVY— Ge H23.12.7 | H23.12.9 <87 57 84

8 | RABE=4JLY | BER) | EER mEEm | ERER — 3] = EEREBEREEVS— Ge H23.12.2 | H23.129 <90 47 42

9 | REABE=A)LY | (BER) | 'ER JIRHE AR — E25] = EEREBERE LV S— Ge H23.12.6 | H23.129 <11 40 49

10 | B2BE=4UVY | BER) | EER JIRFE ETRE — 2] = EEREEHREEVS— Ge H23.12.6 | H23.129 <12 <13 11

1 | B2BE=4IVY | BEBR) | BER JI{RET JETRE M — 121 Mz BERBEREEVS— Ge H23.11.30 | H23.12.9 <9.6 <17 <15

12 | B2BEZ4ILY | BEBR) | BER = )IET JETRE M — 121 Mz EEREBERE LV S— Ge H23.12.9 | H23.12.9 <12 <14 <13

13 | B2BE=4U Y | BER) | EER JIRF FERE — B BzlE EEREBEREEVS— Ge H23.12.6 | H23.129 <85 <1 <97

14 | B2BE=4ULY | BER) | EER il ETRE — SR 47 EEREEREEVS— Ge H23.12.9 | H23.129 <56 <19 <15

15 | B2BE=4U Y | BER) | EER il FETRE — SR 47 EEREEREEVS— Ge H23.12.9 | H23.129 <15 <86 <14

16 | BRBE=4U Y | BER) | EER il FETRE — SR 47 EEREEREEVS— Ge H23.12.9 | H23.129 <60 <15 <10

17 | B2BE=4UVY | BER) | EER L ETRE — SR 47 EEREBEREEVS— Ge H23.12.9 | H23.129 <68 <86 <85

18 | B2BE=4U Y | BER) | EER il ETRE — SR 47 EEREBEREEVS— Ge H23.12.9 | H23.129 <13 <94 <18

19 | B2BE=4ILY | BEBR) | BER =& B — SR 4@ EEREBERE LV S— Ge H23.12.9 | H23.129 <63 <82 <16

20 | REABE=4)LY | BER) | BER il ETRE — SR 47 EEREEREEVS— Ge H23.12.9 | H23.129 <56 <12 <14

21 | BEABE=4)LY | BER) | BER il ETRE — SR 4@ EEREEREEVS— Ge H23.12.9 | H23.129 <18 <1 < 8.1

22 | RABE=4)LY | BER) | BER LT ETRE — P~ O 47 EEREEREEVS— Ge H23.12.9 | H23.129 <15 <89 <80

23 | RABE=4)LY | BER) | BER H#™ ETRE — SR 47 EEREEREEVS— Ge H23.12.9 | H23.129 <13 <90 12

24 | RABE=4)LY | BER) | BER H#™ ETRE — SR 47 EEREEREEVS— Ge H23.12.9 | H23.129 <59 <88 < 8.1

25 | RABE=4)LY | BER) | BER H#™ ETRE — SR 47 EEREBEHREEVS— Ge H23.12.9 | H23.129 <83 <93 <18

26 | BABE=4)LY | BER) | BER H#™ FETRE — SR 47 EEREEREEVS— Ge H23.12.9 | H23.129 <15 <88 <70
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27

REBE=2)LY

Ry

Ge

H23.12.9

H23.12.9

28

REBE=2)LY

>

Ge

H23.12.9

H23.12.9

29

REBE=2)LY

>

Ge

H23.12.9

H23.12.9

30

REBE=4)LY

>

Ge

H23.12.9

H23.12.10

31

REBE=4)LY

Ry

Ge

H23.12.9

H23.12.10

32

REBE=2)LY

>

Ge

H23.12.9

H23.12.10

33

REBE=4)LY

Ry

Ge

H23.12.9

H23.12.10

34

REBE=2)LY

Ry

Ge

H23.12.9

H23.12.9

35

REBE=2)LY

Ry

Ge

H23.12.9

H23.12.10

36

REBE=2)LY

Ry

Ge

H23.12.9

H23.12.10

37

REBE=2JLY

Ge

H23.12.9

H23.12.10

38

REBE=2JLY

Ge

H23.12.9

H23.12.10

39

REBE=2)LY

Ge

H23.12.9

H23.12.10

40

REBE=2)LY

Ge

H23.12.9

H23.12.10

41

REBE=4JLY

Ge

H23.12.9

H23.12.10

42

REBE=4JLY

Ge

H23.12.9

H23.12.10

43

REBE=4JLY

Ge

H23.12.9

H23.12.10

44

REBE=4JLY

Ge

H23.12.9

H23.12.10

45

REBE=4JLY

Ge

H23.12.9

H23.12.10

46

REBE=4JLY

Ge

H23.12.9

H23.12.10

47

REBE=4)LY

Ge

H23.12.9

H23.12.10

48

REBE=2JLY

Ge

H23.12.9

H23.12.10

49

REBE=4JLY

Ge

H23.12.10

H23.12.10

50

REBE=4JLY

Ge

H23.12.10

H23.12.10

51

REBE=2)LY

Ge

H23.12.10

H23.12.10

52

REBE=2)LY

Ge

H23.12.10

H23.12.10

53

REBE=4JLY

Ge

H23.12.10

H23.12.10

&% (Ba/kg)
I9%-131 | £U9h-134 | £ 4-137
<55 <68 <64
<69 <93 <87
<55 <95 <18
<54 <15 <17
<63 <6.1 <18
<15 <10 <719
<65 <74 <170
<712 <86 <94
<64 <16 <84
<69 <81 <60
<49 <92 <62
<67 <94 <66
<62 <98 <86
<63 <90 <88
<86 <85 <82
<13 <170 <91
<65 <96 <65
<13 <89 <719
<15 <15 <85
<67 <85 <62
<67 <13 <91
<58 <13 <78
<63 <15 <74
<55 <94 <92
<13 <97 <82
<66 <84 <16
<87 <91 <86
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54

REBE=2)LY

=

Ge

H23.12.10

H23.12.10

55

REBE=2)LY

=

Ge

H23.12.10

H23.12.10

56

REBE=2)LY

=

Ge

H23.12.10

H23.12.10

57

REBE=4)LY

oy

Ge

H23.12.10

H23.12.10

58

REBE=4)LY

)

Ge

H23.12.10

H23.12.10

59

REBE=2)LY

)

Ge

H23.12.10

H23.12.10

60

REBE=4)LY

)

Ge

H23.12.10

H23.12.10

61

REBE=2)LY

3

Ge

H23.12.10

H23.12.10

62

REBE=2)LY

)

Ge

H23.12.10

H23.12.10

63

REBE=2)LY

ey

Ge

H23.12.10

H23.12.10

64

REBE=2JLY

Ge

H23.12.10

H23.12.10

65

REBE=2JLY

Ge

H23.12.10

H23.12.10

66

REBE=2)LY

Ge

H23.12.10

H23.12.10

67

REBE=2)LY

Ge

H23.12.10

H23.12.10

68

REBE=4JLY

Ge

H23.12.10

H23.12.10

69

REBE=4JLY

Ge

H23.12.10

H23.12.10

70

REBE=4JLY

Ge

H23.12.10

H23.12.10

71

REBE=4JLY

Ge

H23.12.10

H23.12.10

72

REBE=4JLY

Ge

H23.12.10

H23.12.10

73

REBE=4JLY

Ge

H23.12.10

H23.12.10

74

REBE=4)LY

Ge

H23.12.10

H23.12.10

75

REBE=2JLY

Ge

H23.12.10

H23.12.10

76

REBE=4JLY

Ge

H23.12.10

H23.12.10

71

REBE=4JLY

Ge

H23.12.10

H23.12.10

78

REBE=2)LY

Ge

H23.12.10

H23.12.10

79

REBE=2)LY

Ge

H23.12.10

H23.12.10

80

REBE=4JLY

Ge

H23.12.10

H23.12.10

R (Ba/ke)
I9%K-131 | +Y9L-134
<58 <89
<13 <12
<18 <74
<13 <10
<64 <80
<65 <89
<55 <96
<65 <95
<57 <90
<67 <94
<64 <81
<69 <94

<84 1

<54 <66
<17 15

<68 <96
<82 <96
<56 <87
<59 <15
<86 <86
<68 <11
<18 <11
<719 <11
<15 <96
<74 <90
<60 <86
<15 <84
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R (Ba/kg)

Y h-134

REBE=2)LY

<175

REBE=2)LY

<91

REBE=2)LY

<83

REBE=4)LY

<85




